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Suppose stop lights at an intersection aler-
nately show green for one minute, and red
for one minute (no yellow). Suppose a car
arrives at the lights at a time distributed
uniformly from 0 to 2 minutes. Let X be
the delay of the car at the lights (assuming
there is only one car on the road). Graph

the density and the cdf <t X Also L0 E(x)
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A random variable X has CDF

35 <
F(z)={ 4 0<zr<l
1 =221

The expectation of X is: @
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1. 1@1 — x)@}or 0 < x < 11is the variable part
of the density of what random variable?

a U3) of n=6 darts
b U of n=7 darts
c Uy of n=7 darts

@1011@ of the above
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